ISSN: 2090-5858.

http://math-frac.oreg/Journals/JFCA/

COEFFICIENT PROBLEM CONCERNING SOME NEW SUBCLASSES OF ANALYTIC AND UNIVALENT FUNCTIONS

J. O. HAMZAT AND M. T. RAJI

ABSTRACT. The primary focus of the present paper is to study few properties of fractional analytic function $f_{\alpha}(z)$ belonging to certain new subclasses of analytic functions $S_{A,\,B,\,m}^*(\alpha,\,\beta,\,\lambda)$ and $K_{A,\,B,\,m}(\alpha,\,\beta,\,\lambda)$ defined in the open unit disk.

1. Introduction

Suppose that A denote the class of all analytic functions f with series expansion

$$f(z) = z + a_2 z^2 + a_3 z^3 + \dots ag{1}$$

normalized with f'(0)-1=0=f(0) in the open unit disk $D=\{z\in \mathbb{C}:|z|<1\}$. Let S denote the class of univalent function $f\in A$ in D. Also suppose that S^* denote the subclass of S consisting of the functions f(z) which are starlike in D. A function $f(z)\in K$ is said to be convex in D if $f(z)\in S$ satisfies $zf'(z)\in S^*$. See ([2]), ([3]), ([4]) and ([8]) for details. In view of the above definitions, we can write that

$$K \subset S^* \subset S \subset A \tag{2}$$

and $f(z) \in S^*$ if and only if

$$\int_0^z \frac{f(t)}{t} dt \in K. \tag{3}$$

Further, the function f(z) having the series expansion

$$f(z) = \frac{z}{1 - z^2} = z + z^3 + z^5 \dots = \sum_{k=0}^{\infty} z^{2k+1} \qquad (z \in D)$$
 (4)

belong to the analytic class S^* while the function f(z) of the form

$$f(z) = \frac{z}{1-z} = z + z^2 + z^3 \dots = \sum_{k=0}^{\infty} z^{k+1} \qquad (z \in D)$$
 (5)

 $^{2010\} Mathematics\ Subject\ Classification.\ 30C45.$

Key words and phrases. Analytic, univalent, starlike, convex, partial sums.

Submitted Sep. 1, 2018. Revised March 10, 2019.

is in the class K. In 2017, ([2]) introduced and studied the fractional analytic function $f_{\alpha}(z)$ of the form

$$f_{\alpha}(z) = \frac{z}{1 - z^{\alpha}} = z + \sum_{k=1}^{\infty} z^{1+k\alpha} \qquad (z \in D)$$
 (6)

for some real α (0 < α ≤ 2) in the open unit disk. For more details on the kind of analytic function $f_{\alpha}(z)$ defined in (6), interested reader can refer to ([1]), ([6]) and ([10]). Now, for the purpose of the present investigation we shall consider a more generalized form of (6) whereby $f_{\alpha}(z)$ is given by

$$f_{\alpha}(z) = \frac{A(z-\omega)}{A+B(z-\omega)^{\alpha}} = (z-\omega) + \sum_{k=1}^{\infty} (-1)^k \frac{B^k}{A^k} (z-\omega)^{1+k\alpha} \qquad (z \in D) \quad (7)$$

for some real α (0 < $\alpha \le 2$), $-1 \le B < A \le 1$ where ω is a fixed point in D. Now using (7), a new class A_{α} of analytic functions $f_{\alpha}(z)$ is given in D such that

$$f_{\alpha}(z) = \frac{A(z-\omega)}{A + B(z-\omega)^{\alpha}} = (z-\omega) + \sum_{k=1}^{\infty} (-1)^k \frac{B^k}{A^k} \ a_{k+1}(z-\omega)^{1+k\alpha} \qquad (z \in D)$$
(8)

for some real α (0 < $\alpha \le 2$), $-1 \le B < A \le 1$ where ω is a fixed point in D.

Also for $-1 \le B < A \le 1$, $\lambda \ge 0$, $\alpha > 0$, $m \in N_0 = N \cup \{0\}$ and fixed ω in D, we introduce the following linear differential operator such that

$$D^0 f_{\alpha}(z) = f_{\alpha}(z)$$

$$D^{1}f_{\alpha}(z) + \frac{\lambda}{2} \left(D^{0}f_{\alpha}(z) \right) = (z - \omega) \left(\frac{2 + \lambda}{2} \right) \left(D^{m-1}f_{\alpha}(z) \right)$$

$$D^{m} f_{\alpha}(z) + \frac{\lambda}{2} \left(D^{m-1} f_{\alpha}(z) \right) = \left(z - \omega \right) \left(\frac{2+\lambda}{2} \right) \left(D^{m-1} f_{\alpha}(z) \right)^{'}.$$

$$(9)$$

Using (8) and (9), we obtain

$$D^{m} f_{\alpha}(z) = (z - \omega) + \sum_{k=1}^{\infty} \left(\frac{2 + k\alpha(2 + \lambda)}{2} \right)^{m} (-1)^{k} \frac{B^{k}}{A^{k}} a_{k+1} (z - \omega)^{k}$$
 (10)

and

$$D^{m+1}f_{\alpha}(z) = (z - \omega) + \sum_{k=1}^{\infty} \left(\frac{2 + k\alpha(2 + \lambda)}{2}\right)^{m+1} (-1)^k \frac{B^k}{A^k} a_{k+1} (z - \omega)^k.$$
 (11)

Now for the purpose of the present investigation, we propose the following definitions.

Remark A: In particular, when $\omega = \lambda = 0$, $A = \alpha = 1$ and B = -1 in (10), we immediately obtain the celebrated Salagean differential operator ([9]).

Definition 1: Let $f_{\alpha} \in A_{\alpha}$ satisfies the analytic condition

$$\Re e\left(\frac{D^{m+1}f_{\alpha}(z)}{D^{m}f_{\alpha}(z)}\right) > \beta \tag{12}$$

for real β $(0 \le \beta < 1)$ where ω is a fixed point in D, then we say that $f_{\alpha}(z) \in S_{A,B,m}^*(\alpha,\beta,\lambda)$ where $S_{A,B,m}^*(\alpha,\beta,\lambda)$ denote the class of starlike functions of

order β .

Definition 2: Let $f_{\alpha} \in A_{\alpha}$ satisfies the analytic condition

$$\Re e\left(\frac{(z-\omega)\left(D^{m+1}f_{\alpha}(z)\right)'}{D^{m+1}f_{\alpha}(z)}\right) > \beta \tag{13}$$

for real β $(0 \le \beta < 1)$ where ω is a fixed point in D, then we say that $f_{\alpha}(z) \in K_{A,B,m}(\alpha,\beta,\lambda)$ where $K_{A,B,m}(\alpha,\beta,\lambda)$ denote the class of convex functions of order β .

2. Coefficient Inequalities

The results presented here include the coefficient inequalities for functions $f_{\alpha}(z)$ belonging to the classes $S_{A,B,m}^*(\alpha,\beta,\lambda)$ and $K_{A,B,m}(\alpha,\beta,\lambda)$ in the open unit disk D.

Theorem 2.1: Let $f_{\alpha} \in A_{\alpha}$ satisfies the inequality

$$\sum_{k=1}^{\infty} \frac{(2 + k\alpha(2 + \lambda))^m}{2^{m+1}} \left(k\alpha(2 + \lambda) + 2(1 - \beta) \right) \frac{|B^k|}{A^k} |a_{k+1}| \le 1 - \beta. \tag{14}$$

Then $f_{\alpha}(z) \in S_{A, B, m}^{*}(\alpha, \beta, \lambda)$ where $\alpha > 0, \lambda \geq 0, -1 \leq B < A \leq 1, 0 \leq \beta < 1, m \in N \cup \{0\}$ and ω is a fixed point in D. The equality is attained for function $f_{\alpha}(z)$ given by

$$f_{\alpha}(z) = (z - \omega) + \sum_{k=1}^{\infty} \frac{2^{m+1} A^k (1 - \beta) e^{i\pi}}{k(k+1) (2 + k\alpha(2+\lambda))^m (k\alpha(2+\lambda) + 2(1-\beta)) |B^k|} (z - \omega)^{k\alpha+1}.$$
(15)

Proof: Suppose that $f_{\alpha} \in A_{\alpha}$ is having the form (1). If $f_{\alpha}(z)$ satisfies the inequality (14), then

$$\left| \left(\frac{D^{m+1} f(z)}{D^m f(z)} \right) - 1 \right| = \left| \frac{\sum_{k=1}^{\infty} \left(\frac{2 + k\alpha(2 + \lambda)}{2} \right)^m \left(\frac{k\alpha(2 + \lambda)}{2} \right) (-1)^k \frac{B^k}{A^k} a_{k+1} (z - \omega)^{k\alpha}}{1 + \sum_{k=1}^{\infty} \left(\frac{2 + k\alpha(2 + \lambda)}{2} \right)^m (-1)^k \frac{B^k}{A^k} a_{k+1} (z - \omega)^{k\alpha}} \right|$$

$$\leq \frac{\sum_{k=1}^{\infty} \left(\frac{2 + k\alpha(2 + \lambda)}{2} \right)^m \left(\frac{k\alpha(2 + \lambda)}{2} \right) \frac{|B^k|}{A^k} |a_{k+1}| |z - \omega|^{k\alpha}}{1 - \sum_{k=1}^{\infty} \left(\frac{2 + k\alpha(2 + \lambda)}{2} \right)^m \left(\frac{k\alpha(2 + \lambda)}{A^k} \right) \frac{|B^k|}{A^k} |a_{k+1}|} |z - \omega|^{k\alpha}}$$

$$\leq \frac{\sum_{k=1}^{\infty} \left(\frac{2 + k\alpha(2 + \lambda)}{2} \right)^m \left(\frac{k\alpha(2 + \lambda)}{A^k} \right) \frac{|B^k|}{A^k} |a_{k+1}|}}{1 - \sum_{k=1}^{\infty} \left(\frac{2 + k\alpha(2 + \lambda)}{2} \right)^m \frac{|B^k|}{A^k} |a_{k+1}|} \leq 1 - \beta.$$

This shows that $f_{\alpha}(z) \in S_{A,B,m}^*(\alpha,\beta,\lambda)$. Now suppose that $f_{\alpha}(z)$ is given by (8), then we have that

$$\sum_{k=1}^{\infty} \frac{(2 + k\alpha(2 + \lambda))^m}{2^{m+1}} \left(k\alpha(2 + \lambda) + 2(1 - \beta) \right) \frac{|B^k|}{A^k} |a_{k+1}| = \sum_{k=1}^{\infty} \frac{1 - \beta}{k(k-1)}$$

$$=(1-\beta)\sum_{k=1}^{\infty}\frac{1}{k(k-1)}=1-\beta$$

and this obviously ends the proof of theorem 2.1.

If m = 0 in theorem 2.1, then the following corollary is immediate.

Corollary 2.2: Let $f_{\alpha} \in A_{\alpha}$ satisfies the inequality

$$\sum_{k=1}^{\infty} \frac{1}{2} \left(k \alpha (2 + \lambda) + 2(1 - \beta) \right) \, \frac{|B^k|}{A^k} \, |a_{k+1}| \le 1 - \beta.$$

Then $f_{\alpha}(z) \in S_{A,B,0}^*(\alpha,\beta,\lambda)$. The equality is attained for function $f_{\alpha}(z)$ given by

$$f_{\alpha}(z) = (z - \omega) + \sum_{k=1}^{\infty} \frac{2A^{k} (1 - \beta)}{k(k+1) (k\alpha(2+\lambda) + 2(1-\beta)) |B^{k}|} (z - \omega)^{k\alpha+1}.$$

Corollary 2.3: Let $f_{\alpha} \in A_{\alpha}$ satisfies the inequality

$$\sum_{k=1}^{\infty} \frac{1}{2} \left(k\alpha(2+\lambda) + 2 \right) \frac{|B^k|}{A^k} |a_{k+1}| \le 1.$$

Then $f_{\alpha}(z) \in S_{A,B,0}^*(\alpha,0,\lambda)$. The equality is attained for function $f_{\alpha}(z)$ given by

$$f_{\alpha}(z) = (z - \omega) + \sum_{k=1}^{\infty} \frac{2A^k}{k(k+1)(k\alpha(2+\lambda)+2)|B^k|} (z - \omega)^{k\alpha+1}.$$

Corollary 2.4: Let $f_{\alpha} \in A_{\alpha}$ satisfies the inequality

$$\sum_{k=1}^{\infty} \frac{1}{2} (k\alpha(2+\lambda) + 2) |a_{k+1}| \le 1.$$

Then $f_{\alpha}(z) \in S_{1,-1,0}^*(\alpha, 0, \lambda)$. The equality is attained for function $f_{\alpha}(z)$ given by

$$f_{\alpha}(z) = (z - \omega) + \sum_{k=1}^{\infty} \frac{2}{k(k+1)(k\alpha(2+\lambda) + 2)} (z - \omega)^{k\alpha+1}.$$

Corollary 2.5: Let $f_{\alpha} \in A_{\alpha}$ satisfies the inequality

$$\sum_{k=1}^{\infty} \frac{1}{2} (3k\alpha + 2) |a_{k+1}| \le 1.$$

Then $f_{\alpha}(z) \in S_{1,-1,0}^*(\alpha, 0, 1)$. The equality is attained for function $f_{\alpha}(z)$ given by

$$f_{\alpha}(z) = (z - \omega) + \sum_{k=1}^{\infty} \frac{2}{k(k+1)(3k\alpha + 2)} (z - \omega)^{k\alpha + 1}.$$

Remark B:

In a special situation when $m=0,\ \lambda=0,\ A=1$ and B=-1. Then the inequality (14) readily yield the result obtained by ([2]).

Theorem 2.6: Let the function $f_{\alpha}(z) \in A_{\alpha}$ given by (8) satisfies the inequality

$$\sum_{k=1}^{\infty} \frac{1}{2^{m+1}} \left(k \alpha - \beta + 1 \right) \left(2 + k \alpha (2 + \lambda) \right)^{m+1} (-1)^k \frac{B^k}{A^k} \left| a_{k+1} \right| \le 1 - \beta$$
 (16)

for some β ($0 \le \beta < 1$), $\alpha > 0$, $\lambda \ge 0$, $-1 \le B < A \le 1$ and ω is a fixed point in D. Then

$$f_{\alpha}(z) \in K_{A,B,m}(\alpha, \beta).$$

Equality is attained for function $f_{\alpha}(z)$ given by

$$f_{\alpha}(z) = (z - \omega) + \sum_{k=1}^{\infty} \frac{2^{m+1}(1-\beta)}{k(k-1)(k\alpha - \beta + 1)(2 + k\alpha(2+\lambda))^{m+1}} (z - \omega)^{k\alpha + 1}.$$
 (17)

Proof: Let $f_{\alpha}(z) \in A_{\alpha}$ be given by (8). If $f_{\alpha}(z)$ satisfies the (16), then

$$\left| \frac{z \left(D^{m+1} f_{\alpha}(z) \right)'}{D^{m+1} f_{\alpha}(z)} - 1 \right| = \left| \frac{\sum_{k=1}^{\infty} k \alpha \left(\frac{2+k \alpha(2+\lambda)}{2} \right)^{m+1} (-1)^{k} \frac{B^{k}}{A^{k}} a_{k+1} (z-\omega)^{k\alpha}}{1 + \sum_{k=1}^{\infty} \left(\frac{2+k \alpha(2+\lambda)}{2} \right)^{m+1} (-1)^{k} \frac{B^{k}}{A^{k}} a_{k+1} (z-\omega)^{k\alpha}} \right|$$

$$\leq \frac{\sum_{k=1}^{\infty} k \alpha \left(\frac{2+k \alpha(2+\lambda)}{2} \right)^{m+1} \frac{|B|^{k}}{A^{k}} |a_{k+1}| |z-\omega|^{k\alpha}}{1 - \sum_{k=1}^{\infty} \left(\frac{2+k \alpha(2+\lambda)}{2} \right)^{m+1} \frac{|B|^{k}}{A^{k}} |a_{k+1}| |z-\omega|^{k\alpha}}$$

$$\leq \frac{\sum_{k=1}^{\infty} k \alpha \left(\frac{2+k \alpha(2+\lambda)}{2} \right)^{m+1} \frac{|B|^{k}}{A^{k}} |a_{k+1}|}{1 - \sum_{k=1}^{\infty} \left(\frac{2+k \alpha(2+\lambda)}{2} \right)^{m+1} \frac{|B|^{k}}{A^{k}} |a_{k+1}|} \leq 1 - \beta$$

showing that $f_{\alpha}(z) \in K_{A,B,m}(\alpha, \beta)$ and this completes the proof of theorem 2.6.

3. Partial Sums

In this section, we discuss the partial sums of the analytic function $f_{\alpha}(z)$ defined by (8). Here, we propose the following definition.

$$f_{\alpha}(z) = (z - \omega) + (-1)^k \frac{B^k}{A^k} a_{k+1} (z - \omega)^{k \alpha + 1} \qquad k = 1, 2, 3, \dots$$
 (18)

for some real α (0 < $\alpha \le 2$) and $-1 \le B < A \le 1$.

Theorem 3.1: Let the function $f_{\alpha}(z)$ be of the form (18) with $|a_{k+1}| \leq 1$, $0 < \alpha \leq 2$, $\lambda \geq 0$

$$-1 \le B < A \le 1$$
 and $m \in N_0 = N \cup \{0\}$. Then for $|z - \omega| = (r + d)$

$$\Re\left(\frac{D^{m+1}f_{\alpha}(z)}{D^{m}f_{\alpha}(z)}\right) > \frac{1 - \left(\frac{k\alpha(2+\lambda)+2}{2}\right)^{m+1} \frac{|B|^{k}}{A^{k}} |a_{k+1}|}{1 - \left(\frac{k\alpha(2+\lambda)+2}{2}\right)^{m} \frac{|B|^{k}}{A^{k}} |a_{k+1}|}$$
(19)

and

$$\Re e\left(\frac{D^{m+1}f_{\alpha}(z)}{D^{m}f_{\alpha}(z)}\right) \ge \frac{1 - \left(\frac{k\alpha(2+\lambda)+2}{2}\right)^{m+1} \frac{|B|^{k}}{A^{k}} (r+d)^{k\alpha}}{1 - \left(\frac{k\alpha(2+\lambda)+2}{2}\right)^{m} \frac{|B|^{k}}{A^{k}} (r+d)^{k\alpha}}.$$
 (20)

Proof: Suppose that $f_{\alpha}(z)$ be of the form (18), then

$$\Re\left(\frac{D^{m+1}f_{\alpha}(z)}{D^{m}f_{\alpha}(z)}\right) = \Re\left(1 + \frac{\left(\frac{k\alpha(2+\lambda)}{2}\right)\left(\frac{k\alpha(2+\lambda)+2}{2}\right)^{m}(-1)^{k}\frac{B^{k}}{A^{k}}a_{K+1}(z-\omega)^{k\alpha}}{1 + \left(\frac{k\alpha(2+\lambda)+2}{2}\right)^{m}(-1)^{k}\frac{B^{k}}{A^{k}}a_{K+1}(z-\omega)^{k\alpha}}\right)$$

$$= 1 + \Re\left(\frac{\left(\frac{k\alpha(2+\lambda)}{2}\right)\left(\frac{k\alpha(2+\lambda)+2}{2}\right)^{m}\frac{|B|^{k}}{A^{k}}|a_{K+1}|(r+d)^{k\alpha}\left(\frac{\cos(k\alpha\theta+\rho)+1}{\sin(k\alpha\theta+\rho)}\right)}{1 + \left(\frac{k\alpha(2+\lambda)+2}{2}\right)^{m}\frac{|B|^{k}}{A^{k}}|a_{K+1}|(r+d)^{k\alpha}\left(\frac{\cos(k\alpha\theta+\rho)+1}{\sin(k\alpha\theta+\rho)}\right)}{1 + \left(\frac{k\alpha(2+\lambda)+2}{2}\right)^{m}\frac{|B|^{k}}{A^{k}}|a_{K+1}|(r+d)^{k\alpha}\left(\frac{\cos(k\alpha\theta+\rho)+1}{\sin(k\alpha\theta+\rho)}\right)}$$

where $a_{k+1} = |a_{k+1}| e^{i\theta}$. It implies that

$$\Re e^{\left(\frac{D^{m+1}f_{\alpha}(z)}{D^{m}f_{\alpha}(z)}\right)} = 1 + \frac{\left(\frac{k\alpha(2+\lambda)}{2}\right)\left(\frac{k\alpha(2+\lambda)+2}{2}\right)^{m}\left[\cos(k\alpha\theta+\rho) + \left(\frac{k\alpha(2+\lambda)+2}{2}\right)^{m}\frac{|B|^{k}}{A^{k}}|a_{K+1}|\left(r+d\right)^{k\alpha}\right]}{1+2\left(\frac{k\alpha(2+\lambda)+2}{2}\right)^{m}\frac{|B|^{k}}{A^{k}}|a_{K+1}|\left(r+d\right)^{k\alpha}\cos(k\alpha\theta+\rho) + \left(\frac{k\alpha(2+\lambda)+2}{2}\right)^{2m}\frac{|B|^{2k}}{A^{2k}}|a_{K+1}|^{2}\left(r+d\right)^{2k\alpha}}.$$
Suppose that $h(t)$ is defined by

Suppose that h(t) is defined by

$$h(t) = \frac{\left(\frac{k\alpha(2+\lambda)+2}{2}\right)^m \frac{|B|^k}{A^k} |a_{K+1}| (r+d)^{k\alpha} + t}{1 + 2\left(\frac{k\alpha(2+\lambda)+2}{2}\right)^m \frac{|B|^k}{A^k} |a_{K+1}| (r+d)^{k\alpha}t + \left(\frac{k\alpha(2+\lambda)+2}{2}\right)^{2m} \frac{|B|^{2k}}{A^{2k}} |a_{K+1}|^2 (r+d)^{2k\alpha}} (t = \cos(k\alpha\theta + \rho)).$$

Then, we have that h'(t) > 0 and $|a_{k+1}| \leq 1$. Finally, we obtain

$$\Re\left(\frac{D^{m+1}f_{\alpha}(z)}{D^{m}f_{\alpha}(z)}\right) > 1 - \frac{\left(\frac{k\alpha(2+\lambda)}{2}\right)\left(\frac{k\alpha(2+\lambda)+2}{2}\right)^{m}\frac{|B|^{k}}{A^{k}}|a_{K+1}|(r+d)^{k\alpha}}{1 - \left(\frac{k\alpha(2+\lambda)+2}{2}\right)^{m}\frac{|B|^{k}}{A^{k}}|a_{K+1}|(r+d)^{k\alpha}}.$$
 (21)

By letting $r \to 1$ and d = 0 in (21), we obtain the desired result as contained in (19) while we have the inequality in (20) by setting $|a_{k+1}| = 1$ in (21).

Remark C: In a special case when m=0 and $\lambda=0$ in (19) and (20), then we obtain the results due to ([2]). For recent work on partial sums, interested reader can refer to ([1]), ([2]) and ([5]).

References

- [1] M. Darus and R.W. Ibrahim, Partial sums of analytic functions of bounded turning with applications, Computational and Applied Mathematics, 29(1), 81-88, 2010.
- M. Darus and S. Owa, New subclasses concerning some analytic and univalent functions. Chinese J. Math. Article ID4674782, 2017, 4 pages. http://doi.org/10.1155/2017/4674782.
- [3] P. L. Duren, Univalent functions, vol. 259, 1983, Springer-Verlag. New York, Berlin, Heidelberg, Tokyo.
- [4] A. W. Goodman, Geometric Theory of functions, vol. I and II, 1983, Mariner, Tampa, Fla, USA.
- [5] T. Hayami, K. Kuroki, E. Y. Duman and S. Owa, Partial sums of certain univalent functions, Applied Math. Sci., vol. 6, no. 13-16, 779-805, 2012.
- [6] R. W. Ibrahim, Fractional complex transforms for fractional differential equations, Advances in Difference Equations 2012.1(2012): 192.
- [7] R. W. Ibrahim and M. Darus, On subordination theorems for new classes of normalize analytic functions, Appl. Math. Sci. 2.56, 2785-2794, 2008.
- [8] M. I. Robertson, On the theory of univalent functions, Annals of Math. Second series, 37(2), 374-408, 1936.
- [9] G. S. Salagean, Subclasses of univalent functions, Lecture Notes in math. (Springer-Verlag), 362-372, 1983.
- [10] H. M. Srivastava, M. Darus and R. W. Ibrahim, Classes of analytic functions with fractional powers defined by means of a certain linear operator, Integral Transforms and Special Functions, 22.1, 17-28, 2011.

Hamzat J. Olusegun

DEPARTMENT OF MATHEMATICS, UNIVERSITY OF LAGOS, AKOKA, LAGOS STATE, NIGERIA. E-mail address: jhamzat@unilag.edu.ng

DEPARTMENT OF MATHEMATICS, FEDERAL UNIVERSITY OF AGRICULTURE, ABEOKUTA, OGUN STATE, Nigeria.

E-mail address: rajitayo@yahoo.com